

St. Louis County, Minnesota



Date of Report: 5/14/2025 3:46:58 AM

			General De	etails					
Parcel ID:	141-0050-0	5670							
Document:	Torrens - 99	Torrens - 994433.0							
Document Date	e: 01/17/2018								
		Le	gal Descripti	on Details					
Plat Name:	HIBBING								
Sec	tion	Township	F	Range		Lot		Block	
2	29	57		21		-		-	
Description:	NW1/4 OF	NE1/4 EX SLY 3	30 FT						
			Taxpayer D	etails					
Taxpayer Name	e NELSON PI	HILLIP & JOLINE							
and Address:	3864 SAWN	IILL RD							
	HIBBING M	N 55746							
			Owner De	tails					
Owner Name	NELSON JO								
Owner Name	NELSON PI			-					
		Pay	able 2025 Ta	x Summary					
	2025 - 1	Net Tax			\$1,	766.00			
	2025 - 5	Special Assessme	al Assessments \$0.00						
	2025 -	Total Tax &	Special Asse	ssments	\$1,	766.00			
		Curren	t Tax Due (as	s of 5/13/202	5)				
	Due May 15		Due Octo	ber 15	1		Total Due		
				A a a					
2025 - 1st Half Tax		00 2025 - 2	2025 - 2nd Half Tax		33.00 2	2025 - 1st Half Tax I		\$883.00	
2025 - 1st Ha	lf Tax Paid \$0.	00 2025 - 2	2025 - 2nd Half Tax Paid		\$0.00 2	2025 - 2nd Ha	\$883.00		
2025 - 1st Half Due \$883.0						005 Total I	\$1,766.00		
2025 - 1St Ha	lf Due \$883.	2025 - 2	2025 - 2nd Half Due \$883.00			2025 - Total I	\$1,766.00		
			Parcel De	tails					
Property Addre	ess: 3864 SAWN	IILL RD, HIBBING	G MN						
School District	: 701								
Tay Increment	District: -								
Tax increment		HILLIP I & JOLIN							
Property/Home	esteader: NELSON, P		nt Detelle /00	25 Payable 2	2026)				
	esteader: NELSON, P	Assessme	nt Details (20				- C DL L	Net Tax	
Property/Home Class Code	Homestead	Land	Bldg	Total	Def La		ef Bldg	Conocity	
Property/Home Class Code (<mark>Legend</mark>)	Homestead Status	Land EMV	Bldg EMV	Total EMV	EM\		EMV	Capacity	
Property/Home Class Code	Homestead	Land	Bldg	Total				Capacity -	
Property/Home Class Code (Legend)	Homestead Status 1 - Owner Homestead	Land EMV	Bldg EMV	Total EMV	EM\		EMV	Capacity - -	



St. Louis County, Minnesota



Date of Report: 5/14/2025 3:46:58 AM

			Land D	etails							
Deeded Acres:	30.00										
Waterfront:	-										
Water Front Feet:	0.00										
Water Code & Desc:	W - DRILLED WE										
Gas Code & Desc:	-										
Sewer Code & Desc:	S - ON-SITE SAN		ΞM								
Lot Width:	0.00										
Lot Depth:	0.00										
The dimensions shown are no		rvev quality 4	Additional lot	information can be	e found at						
https://apps.stlouiscountymn.g	gov/webPlatsIframe/fr	mPlatStatPop	Up.aspx. If the second	here are any quest	tions, please email PropertyT	ax@stlouiscountymn.gov.					
Improvement 1 Details (RESIDENCE)											
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.					
HOUSE	1959	1,68		1,684	-	RAM - RAMBL/RNCH					
Segment	Story	Width	Length	Area	Foundat	-					
BAS	1	22	22	484	SHALLOW FOU	-					
BAS	1	30	40	1,200	SHALLOW FOU						
Bath Count	Bedroom Cou	Bedroom Count Roo		ount	Fireplace Count	HVAC					
1.5 BATHS	3 BEDROOM	S	5 ROOM	MS	-	CENTRAL, FUEL OIL					
		Improvem	nent 2 Det	ails (LRG STF	RG)						
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
UTILITY	1951	6,20	00	6,200	-	-					
Segment	Story	Width Length		Area	Foundat	ion					
BAS	1	62 100		6,200	POST ON G	ROUND					
		Improver	nent 3 De	tails (GARAG	E)						
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
GARAGE	1951	1,400		1,400	-	DETACHED					
Segment	Story	Width Length		Area	Foundat	on					
BAS	0	28 50		1,400	FLOATING	SLAB					
		Improvem	ent 4 Det	ails (KILN BLI	DGI						
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.					
UTILITY	1951	3,380		3,380	-	- -					
Segment	Story	Width Lengt			Foundat	ion					
BAS	1	16	20	320	FLOATING						
BAS	1	45 68		3,060	FLOATING						
				ils (OPEN FRO							
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.					
POLE BUILDING	1951	4,32		4,320		-					
Segment Story		Width Lengt			- Foundat	ion					
BAS	3101 y	36 120		4,320	POST ON G						
		-		ails (MILL BLI	•	Chula Or de A De					
	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.					
UTILITY	1951 St ores	1,50		1,500	-	-					
Segment	Story	Width	Length		Foundat						
BAS 1 30 50 1,500 POST ON GROUND											







Date of Report: 5/14/2025 3:46:58 AM

		Improvem	ent 7 Detai	ils (GR	N CHAIN)					
Improvement Type Year Bui		Main Fl	oor Ft ² G	Gross Area Ft ² Ba		asement Finish		yle Co	ode & Desc.	
POLE BUILDING 1951		3,8	3,840 3,8		0	-			-	
Segment Story		/ Width	dth Length Area		rea	Foundation				
BAS 1		48	48 80 3,840		840	POST ON GROUND				
		Improv	/ement 8 D	etails ((Shed)					
Improvement Type	e Year Built	Main Fl	oor Ft ² G	Gross Ar	ea Ft ² Ba	sement Finish	St	yle Co	ode & Desc.	
STORAGE BUILDING 0		35	352 35		2	-			-	
Segmer	nt Story	/ Width	Length	h Area		Foundation				
BAS	BAS 1		16 22 352		352	FLOATING SLAB				
	:	Sales Reported	to the St. I	Louis	County Audite	or				
Sal		Purchase Price			CRV Number					
01		\$86,255			224818					
01	/1988		\$0				81272			
		A	ssessment	Histor	у					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bidg EMV		Total EMV	Def Land EMV	De Blo EN	lg	Net Tax Capacity	
	201	\$34,000	\$117,4	100	\$151,400	\$0	\$()	-	
2024 Payable 2025	111	\$19,700	\$0		\$19,700	\$0	\$0)	-	
,	Total	\$53,700	\$117,4	100	\$171,100	\$0	\$0)	1,382.00	
	201	\$34,000	\$117,4	100	\$151,400	\$0	\$0)	-	
2023 Payable 2024	111	\$19,700	\$0		\$19,700	\$0	\$0		-	
	Total	\$53,700	\$117,4	00	\$171,100	\$0	\$0)	1,475.00	
	201	\$31,600	\$80,80	00	\$112,400	\$0	\$0)	-	
2022 Payable 2023	111	\$17,100	\$0		\$17,100	\$0	\$0)	-	
	Total	\$48,700	\$80,80	00	\$129,500	\$0	\$0)	1,024.00	
	201	\$31,600	\$72,50	00	\$104,100	\$0	\$0)	-	
2021 Payable 2022	111	\$17,100	\$0		\$17,100	\$0	\$0)	-	
-	Total	\$48,700	\$72,50	00	\$121,200	\$0	\$0)	933.00	
		-	Tax Detail H	History	,					
Tax Year	Тах	Special Assessments	Total Tax Special Assessme	1	Taxable Land M	Taxable Buil V MV	ding	Total	Taxable MV	
2024	\$1,964.00	\$0.00	\$1,964.0	00	\$48,397	\$99,089)	\$147,486		
2023	\$1,532.00	\$0.00	\$1,532.0	00	\$41,074	\$61,302	302 \$102,37		102,376	
2022	\$1,430.00	\$0.00	\$1,430.0	00	\$40,240	\$53,089)	\$93,329		







Date of Report: 5/14/2025 3:46:58 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.